Excelling in I1T-JEE Since 2001...

Resonance®
Educating for better tomorrow

Growing in Multiple Examination Since 2013...

ResoMEx Division

o AR 3R HA Ja1 I ars fedie 9 Rygwx 2018
31 smarford LDC o Jn. Accountent oer

which 15 &1 example of physical change ?
z) Paper burning

@) Water boiling

l‘t";ll Silver 1““‘.’-“'“'”&5

(D Aetal Tushing

pry & ® YA s wREd & g
$7

(A) FTA B AT

(B) 9T W AT

(] wia] 1 w8

(D) = AT

In the reaction KMnO,; + H,C,0, + ..
- MnQO, + CO; +........... equivalent
weight of KMnO, is 52,66, then molecular
weight of KMnO, is

aiufEm KMnO, + H G0, +.... —

Mn0, + COy +ocons & "o ¥ KMn0,
= R W 52.66 ® @ KMnO, &
ELvicl

(A) 263.30 (B) 31.6

(C) 52.66 (D) 158.04

In which compound, the oxidation number
of oxygen is positive 7

= A 8 few dfs =2, wiacE @
HRET WO WS b7

(A) OF, (B) 1,0

(C) Nay0, (D) H,0,

Aclivily of heterogencous catalysis

depends upon :

{A) total surface area, number of active
sites and method of preparation

(B) methed of preparation only

(C) the number of active sites per unit
amount of catalyst only

(D) total surface area only

T s@Tm & afwam b s & -

(A) ¥7 g dae=, wikg &2 2 dEm
4 T &) fa Oy

(B) &aw €43 & fafa gt

(C) ¥aw wiby &= & wom wfy yord
THTE N HE gy

(D) %a® F8 g emme Or

........................

!ﬁz

The elements which are good catalysis and
have the ability to change their oxidation
nurnber are

(A) All of these

(B) Alkalis metals

(C) Noble gases

(12} Transition elements
B AW TES W A -
(A) T Wi

(B) @i urg

(C) e g

(D) HEmw 7=

Select the correct statement about
thermosetting polymers

(A) All of these

(B} Cross-linking occurs during heating
and when it cools it hardens
irmeversibly.

(C) These are cross-linked polymers.

(I3) Don't melt or soften on heating.

aogs wgedl & fog wh v = T

s -

(A) 3 i

(B) ™ w0 v fdss dul wroowm W
Pamrmtamma@dmes@ |
s W ' B w3 e ko

(C) 3 frdwrg wgers ¥

(D) T A 9 7 froed & 8 T oeR
¥
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Muatch List-l with List-1l and select the
correct answer using the code piven below
the lists -

List-1 List-11
(i) PVC () Thermosctting
polymer
(ii) Bakelite (b)) Thermoplastic
polymer
(111) Vulcanized (c) Fibre

rubbr
{iv) Nylon 6 idy Elastomers
fowe-1 @1 fre—11 & i @ a fe
¥ o T w1z W w w0R T T &

95 #ifae

fa=-1 frm-11
(iy fdH {a) U TXEH
(i) THeEZ (b) TUHETA TEEE

(i) FowIga T (c) WIEAT (19)
(iv) A6 (d) wEmy qges
Code /F12 :

(A) (i) - (B} (i1) - (u) (§id) - (e) (iv) - (d)
(B} (1) = (&) (i) = (b) (iil) = {e) (iv) - (d}
(C) (i) - (b) (i) - {n) (iii) - (d) (iv) - (c)
(D) (i} - (d) (1) - (b (iid) - (a) (iv) - (c)
Which of the following compound 1s
aromatic according to Huckel's rule ?

wae s & e B 9 8§ wem A
Tt & 7
(A) H,C CH,

(B)

(€)

(D)

378
@,
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Ht1\»‘ many structural isomers are P““ih!c
for Pemtane 7

EEa iR E R SO —
(A3 (B) 2

(€)1 (o O

Amuong the 4 common 1ype of refrigerant®
which has the highest ozone depletion
potential 7

TeiTere & 4 HAT T A 9w e
A T B T 7
{A) LTCs (B) HFCs
(C) HCFCs (D) CFCs

Correct clectronic configuration of
chromium (Cr) is -

Fftr (Cr) ®1 WE ToEes e ¥ -
{A) 3d¥as! (B) 3d¥s?

(C) 3d54s! (D) 3d%4s2

NH; has u much higher bp. than PH;
because

(A) NH; containg ionic bonds whereas
P, contains covalent bonds

{B) NH; forms hydrogen bonds

(C)} WH, undergoes umbrella inversion

(13) NHj hos a larger molecular weight

PH, %1 get1 o NH; &1 9415 7w sy

¥ s

(A) NH; % smafs @a €m & wafs PH,
# wudEE 4y

(B) NH; ® FIEH 44 & B

(C) NH; ® amden T2 o &

(D) NH, @ anfieds =i = g &

[PT.O.
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White lead 1%

nz g (7s) ®
(A) Pbs0), Phi)
(B} PH{OH}, - ZPbCO,
(C) PBCO, - PBO

(M PRCO,

Monomer unils of Nylon 6, 6 are

(A) Tercphthalic acid and Methanol

(B} Sebacic acid and Terephthalic acid
((') Terephthalic acid and Ethyleneglycol
(1 Adipic acid and Hexamethylenediamine
aGETA 6, 6 %) TEEAS THEA £ -

(A) Tredfem anw 3 2T

(B) frafes a3 Tredfes st

(C) Zigdfers smw 3 UmAREEEA
(D) ufefs o 7 FRmaigeEsgede

Pyramid of energy

(A} s inverted only for sea ccosystem,

(B) is always upright.

(C) can be both inverted or upright.

(D) is always invened.

wat fatfie

(A) Fad |z aftas § a9dl amen
wa b

(B) wia @ sren 7 wren &

(C) T@8 o whl < en | 0 wwm
¥

(D) v w@d) e ¥ wrew ¥
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Wha was awarded with the Nobel Prize
in 1975 for the discovery of "Central
Dogma Reverse' 7
{A) Baltimore (B) Khorana

{C) Dalton () Monad

g v P A @ &
1975 ¥ v gree & fEEE @l
e T 7
(A) TEET

(C) TFzA

(B) BT

(D) HHETE

The flow of energy in an ccosysiem
follows the laws of

(A) Photochemistry

(B) Probability

(C) Thermodynamics

(1)) Kinctics

uw wiithafes @3 & S wars 7
® v ¥ ?

(A) WEIITETES (B) ®wrer

(C) T (D) mifer

In which year was the Indian Patents Act
passed 7

frw o o i = wfufom afte g
ar v

(A) 1990 (B) 1980

(C) 1970 (D) 1960

Central dogma in molecular biology was
proposed by
{A) Francis Crick

(B) Frederich Griffith

(C) Thomas Hunt Mongan

(D) Gregor Mendel

o e ferer & m frgra @ farer
F weqa fean

(A) wiftw fes (B) Wftw firdw
(C) urg ¥z WrlA (D) W7t Hee

[PTO.
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Which of the following is used as an
anticoagulant 1 blood transfusion ?

(A) Sodium nitrate

(B} Sodium carbonate

(C) Sodium acetate

(D) Sodium citrate

fpfofaa % § 5w o @ w9 s §
WA @ Ave Ivam fEm o ko7
(A) Wifsam g

(D) wifras FEEz

(C) "ifegy nfgez

(D) ey firge

Which of the following is the largest
ecosysterm in the world 7

(A) Forest ecosvsiem

(B) Ocean ceosystem

{C) Grassland ecosystem

(D) Desert ecosystem

fayg o wam 921 witafas @ ®HE-m
¥

(A) Tif@ wiftfgfie =

(B) R it &=

(C) amaqf wiftfeafash &=

(D) wowem yifafed a9

In which fonm, docs water ocour in gaseous
state in the atmosphere 7

(A) All of these

(B} Water vapour

{C) Water drop

(I3} Snow particles

ArguvEd o W, e e o fee we g
o A 7

(A) T wh

(B) wreramg

(C) vr™ 9=

(D) fbm &=
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Educating for better tomorrow

15

ResolMEx Division
Be Skilled... Be Employed...!!!

24

Which of the three “R’s are regarded a5
cnvironment fendly ?

(A) Recyele, Reorder, Repeat

(B) Repeat, Reorder, Hecreate

(C} Reduce, Recreate, Reuse

(D) Reduce, Reuse, Recycle

Prafefen ¥ & 7 & 4= R wate
SHE A A E 7

(A) FaFamv1, T4: wgaitad, W‘Vi"
(B) g7, g =iy, g 9900
(C) &9 HT, T4 @, T G‘Q‘Q;'Fl
(D) &% &T7, T3 JuErT, JAyaEs

For control of which diseasc is the wriple
antigen (D, P, T) administered 10 children ?
{A) Dengue, Polio, Typhoid

(B) Diphtheria, Penussis, Typhoid

{C) Diphthera, Polio, Tetanus

{[)) Diphtheria, Pertussis, Tetanus

Fedl &1 fraw et (D, P, T) i T &
T g & ah b 7

(A) 27, diferd), TEwTS

(B) fewehifrar, ggard, wawiae

(C) fawedifer, aiferat, frzim

(1) fewhftan, gy, f=m

The most commen cause of anaemia ig
our country is

{A) Calcium deficiency
(B) Potassium deficiency
(C) Magnesium deficiency
(13} lron deficiency

et &1 0 ufian @ gaR T o Py
fafsmmamtsi t ?

(A) Hfrag

(B) uriimm

(C) Fifiram

(D) e

[PToO,
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26  How many contrasting characters did
Mendel seleet for his experiments 7
EA 4 A W % fn feae faum
wE g g 7
(A) 10 (B) 9
(C) 8 {(m7

27 Who proposed the chromosomal theory of
inheritance ?

(A) Sutton (B) Hooker

(C) Darwin (D) Lamarck

P e 3 aum 1 e
wega fem 7

(A) |29 (3) =Ht

(C) sTEfa (D) ek

28 The nitrogenous base found in place of
Thiamine in RNA molecule is
(A) Adenine (B) Cylosine
(C) Guanine (D) Uracil
WX, o] H avsfaa & e 97 gmr
WA AN AT @Ts o
(A) Sfefe (B) W
() gt (D) gife

29 A lens behaves as diverging lens in air
(u=1) and converging lens in water
(u= 1.3) . The refractive index (u) of the
material of the lens is
qﬁh'ﬂfﬂ [p:l] ¥ i) ﬁ“ﬂl’,ﬂ

(M=13) ¥ aftrh &= & w99
T ETA ¥ | 7 & qaned @ e
(M) & :
(A) p=2t13
(B) pu<l.o
C) u>13
(D) 10<pu<13
IIIIIII Resonance®
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30 [-V graph for a (conductor) metallic w;,

at two temperatures T and T; is showp j,
the figure, then -

[ A

<

(A) Cannot be determined from this
graph.

(B) T, =T,

(C) T, > T,

(D) T, >T,

Ud "erd are & fore & ammn T, 97,

a7 -V sty fn mar ¥, 6 -

I A

<~

(A) ¥ WH & Ao ot R o g |
B) T, =T,
(€ T,> T,
)T, >T;

[ pT.O:
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If 2 A of current is flowing in a conductor
from a battery of 5V, then the resistance
of the conductor is :

(A) 10 Ohm (B) 0.4 Ohm

(C) 2.5 Ohm (D) 2 Ohm

5 gz & #=0 § oft R @@ § 2 A
2 gy wated 2t ¥, o aws & iy

i

=
(A) 10 3 (B) 0.4 &™
(C) 2.5 @M (D) 2 &M

A plano convex lens (u = 1.5) with radius
of curvature 20 cm is silvered at the curved
surface. The power of the system is -

% FoeEe AW (4 =1.5) W T HAE
= T B 2094 ¥ 1 3H O A 9w
HaE U wiE @ oifew @ it ¥ 3
e & s (power) BON —

(A) 25D (B) 5D

(C) 10D (D) 15D

4

33/ Lenz's law is a consequence of :
(A) Conservation of current
(B) Conservation of energy
(C) Conservation of mementum
(D) Conservation of charge

ww @ Frm ofom & -
(A) °TU & GTEYT &
(B) &=l & WG &
(C) €97 & &1 &1
(D) Ay & & w7

Which lamp is used as indicator in an
electric tester 7

(A) Tungsten lamp (B) Neon lamp

(C) Mercury lamp (D) Sodium lamp
e Tt ¥ B-w o gus & w9 A
sqg far s ¥ 7

(A) T 8 (B) Frdm &

(C) w&l o= (D) wifeam @

2
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Ijﬁ// An electric motor converts -

(A) Eddy currents energy into mﬁ'-'h*”‘ica!
encriy.

(B) Heat energy into mechanical energy-

(C) Eleetrical energy into m'—"-‘ha"ical
cnergy.

(D) Mcchanical energy into electrical
energy.

U TelEE Azt ¥ wrn A €
(A) Wt s ) et o qifes o |
(B) oq ot @ afss == ° |

(C) faem &= &1 wifas & 7 |

(D) w1 frga S | |

(J/ The frequency of dircct current 18 :

(A) 220 Hz (B} 100 Hz
(C) 50 Hz (D) Zero
faez @ Mg #

(A) 220 Hz (B) 100 Hz
(C) 50 Hz (D) 54

o

A ray of light is made incident on a
concave mirror, parallel to its principal
axis. Afier reflection it will -

{A) pass through the principal focus

(B) pass through the pole of the mirror

(C) move parallel to the principal axis of
the mirror

(D) pass through the centre of curvature

T W UE R O Hgad T6e gy

T T A & FHFAIL AR Y AR

t | TOEdA % 99EE 9% -

| (A) 6T HIEE ¥ T

(B) &dor & ya @ el
(C) ot % TEA e & AT N Hy
(D) @@wal H § e

7 [PT.0.
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The unit of rate of flow of electric chorge
5 -

{A) Ohm (B} Ampere

(C) Aho (D) Vol

TAfeE A WAE P 57 B OAAG & -
(A) &g (B) et

(C) = (D} T

When white light is incident on a green

leaf

(A) all the colours are equally absorbed

by the leaf

all the colours except green are

reflected by the leal

the green colour is mostly reflected

by the leaf.

the green colour is mostly absorbed

hy the leaf

w9 F U 9T 96T W31 afoe w2 ¥,

@

(A} T % 2T W TN i gaeE
Y B R |

(B) Wl & gra Bt 11 & arfafiaw o=
ot 4 urEfig #| ¥ |

(C) T % 270 q&E w9 § ¥ {7 ki
L

(D) 9l & 210 & ¥ F €0 1 s@unia
B ¥

(B)
(&)

(D)

\_)/ The defect of eye, that arises due to the

.........................

Reso

cornea of the eye having different
curvatures in the horizontal and vertical
planes, is known as :

(A) Astigmatism
(B) Preshyopia
(C) Short sightedness
(D) Long sightedness
W oz 2y W st & il & T S
M ur sefere awit & e B % @
-':ﬂ'_"' B . Heomal ¥

A) Mmoo (B) s
©Feegfe () o ;;Eﬂz

nance®
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The low of reflection, 'Angle of incideng,
is equal to the angle of reflection’, is trye
for reflection of a ray of light on -

(A) All ol these

(B) Convex surtace only

(C) Concave surface only

(D) Plane surface only

qrrEd w1 P, T HI, GO S
¥ woat B ¥ oWyt B UE fEm o
TrEda & e @ -

(A) 7 T

(B) et Ja7 Haw & (o

(C) *ae HFaw |6 & [0

(D) ¥ae avam aa8 & o

Which of the following cells can not
produce continuous and constant current
for a longer time ?

{A) Lechlanche cell

{B) Daniel cell

{C) Edison's ccll

{D)} Lead accumulator cell

Fr &al & @ fom o & froee 9 T
g W= 899 & el e wE & o g
L3

(A) TFng g

(B) 3frga &«

(C) i A

(D) dran d9rgs /9

company introduced emoji
internationally on their mobile devices.
{A) Motorola (B) Apple

(C) Nokia (D) Samsung

& A aimia W we gt
(emoji) @1 ufte S Hame fraga 3
ST 1|
(A) HrErgan
(C) =hfea

(B) T=w
(D) AT

[PT.O.
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Every XML document must begin with g

(A) XML atribute

(B) XML version details

(C}) Child element

(D) Root element

TEE TS SR % Hm
T B Een

(A) TEETHUE TEEE

\B) UEEUHTE A fEarm

(C) =rges UWHE

(D) & TmHe

The web browser available with first
graphical user interface was -

(A} Firefox (B) Erwise

() Chrome (I3 Opern

waq WihER YT TT0RE F WY 399
o9 HTSWL o7 —

(A) FTOTHRE (B) TrEEd

(C) mm (D) #HOT

The statement i ++; is equivalent 1o :
(A) ==

(B i=i-1;

Rl e I

(D) i=i+1;
T o+ THE R
(A) i——

(B) i=i-1; &
C)i=i+ I;?'E
(D) i=i+i, &

Open source tool used for spatial data
analysis is
wia ¥ fasenm & o owan F s
e T w5 T ok

(A) QGIS

(B) Oracle Spatialjet

(C) IDRISI

(D) ArcGlS
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4%

— Is the first robot with Arificial
Intelligence 1o fly in space,

[A) Spidernaw

1B Robonaur

(C) Valkyrie RS

(D) CINMON

ﬂ Fm Afs (anffrfaam geiad)
& A aitE § T awn g 1A E
(A) WEETHZ

(B) TrmTz

(C) =eraro ares

(D} H=eA

India’s first super computer PARAM 8000
was launched in vear
WG % WY9 gO wEgT 97H 8000 W
Ty = ERET ol

(A) 1992

(B) 1989

(C) 19491

() 1990

is an Indian softwure applicalion
developed by ISRO o explore 2D/D
representation of carth surface,

(A) Bhudey

(B) Bhuyaan

(C) Blinmi

([ Bhuvan

gt @ waE & 203D fawmfrem o
AT\ & THU T Fafg
U WA AT USRS ¥

(A) yEe
(B) A
(C)
(D) &

|. ]1‘1-1l D_
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In which of the following district industrial
centres of Rajasthan not a single large scale
industry is operating ason 31 March 2017 7
(A) All of these  (B) Pratapgarh

(C) Jalore (D) Dausa

frss 4§ T ¥ fEm P ol
T H 31 A 2017 @ o of 72 e a
oM FEdw TE a7

(A) T i (B) T

(C) ST (D) Frm

;|

J

Rajasthan has
reserves of the country.

T A GEIGR T b i

percent Felspar

yoErT E
(A) 66 (B 33
(C) 50 (0 100

83 What is the share of Government of

Rajusthan and Hindustan Petroleum
Corporation 1.1d. in Rajasthan Refinery ?

e freEaD F e wrET A
F&aﬁﬁiﬂﬁrﬂq%ﬂﬁa.ﬁﬁﬁaﬁﬁ:ﬁ%
7

(A) 25: 75
(C) 26: 74

(B)y 75 ;25
(D) 74 : 26

"i'-’l'ltir:h of the following power projects of
Rajasthan is under state’'s complete
ownership 7

{A) Satpura Project

(B) Mahi Project

(C) Beas Projec

(D) Chamba Project

-ﬂﬂ‘-’hﬂ“{?}wﬂjﬂmamﬁ
(A) W8T Sfrdirer
(B) w81 wfgamy
(C) =8 sy
(D) == ity

||||||||||||||||||||||
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‘57/ Which of the following is first Syps,
Thermal Power Plant of Rajasthan ?
(A) Dholpur Gas Thermal Power Plan
(B) Chhabru Thermal Power Plamt
(C) Kota Thermal Power Plant
{D) Suratgarh Super Thermal Power Plan
et & & wra TemaE B OuEE gw
A AT e E 7
(A) HrEgT | A grET Wi
(B) Bg=1 Mg gEaT Wi
(C) F1=1 g =T Wi
(D) FITE U 9™ 9E |2

?/Namc the Ruler of Jaipur who served the
Mughal Court constantly during the reign
of Mughal Emperors viz, Shahjahan and
Aurangzeb,
(A) Raja Bhagwun Das
(B) Maharajn Sawai Jai Singh
{C) Mirza Raja Jai Singh
(D) Raja Man Singh
T AEIE mEwel T ofrieg %
s § Fiae g g 4 51 a5
qA AL & AHE F AW TS |
(A) T WA AW G
(D) wETIre warg wafte
(C) Pornt e wratds
(D) T WrHiE

,_SJ// Who was the founder ruler of Kota State 7
(A) Ram Singh

{B) Kishore Singh

(C) Mukund Singh

(D) Madho Singh

HIE] U7 H HWNE 66 i a7
(A) TmitE

(B) fareniite

(C) qH=IHE

(D) AeifeE

0 [ PT.O.
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"itzi/- Who founded Vardhman Vidyalaya in

Jaipur 7

{A) Hecra Lal Shastri
{(B) Angun Lal Sethi
(L) Tikaram Paliwal
(D) Vijay Singh Pathik
wagt F FiE feomes @ ww e
% 7

(A) TRE® mTED

(B) et &3

(C) From g
() frsofge ufts

Who among the following was one of the
leader of the revolt of 1857 in Kota 7
(A) Kushal Singh

{B) Kanhaiyalal

(C) Wand Kishore

(D) Jaidaysl

Fr=fofas & & @ & & 1857 & fEw
I UE gl u1?

(A} FTATEE

(B) Fedammd

(C) = TEsi

(D) Sg=dr

Who proposed the formation of "Hadaun

Sangh’ to integrate the smaller states of

South Rajputana ?

(A) Gokul Lal Asawa

(B) Maharao Bahadur Singh of Dundi
(C) Maharao Bhim Singh of Kota

(D) N. B. Gadgil

il rAgETN & ©BIE oA & TR
FT9 % fu fFEa wER @9 @ &=
e fean ?

(A) @ wTE SrETa

(B) HertE qEEHE (gE)

(C) A ¥mftE (F)

(D) 7. . MmefE

||||||||||||||||||
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jl/ Which ruler of Jaipur composed pocms

under the pen-name 'Brijnidhi' 7
(A} Ishwan Singh

(B) Sawai Prithvi Singh

(C) Sawai Pratap Singh

(12) Sawai Jai Singh

WY B FAE qTa s F e
T Aty e 4

(A ﬁﬁa'ﬂﬁﬂ

(B) mar yehifee

(C) ward wamfife

(D) war waitE

Which is the most popular Rajasthan song
which deseribes the beauty of @ young
girl ?

(A} Gorbandh (I3) Sapna

(C) Mumal () Kura

e witig T Ma ow g9 F e
@1 auis & 2
(A) TITEH

(L) THm

(13 {9

{13 -’iﬂ'al

Where s the emple of Goddess Tripura
Sundan sitonted
i) Cluttor
(C) Udwipur
g g 581 7 sz 7 o %7
(A) Ferdis (B) §mgr
(C) AT (1) FrEEmE

(131 Dungarpur
{[}} Banswara

In which Hindu moenth (V.8.) is Teja
Dashmi celebrated

(A) Kartik {B) Bhadrapad

{C') Shravan (D) Asoj

fm frg wée (fad) o daEeed
W &7
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Champakali ormament is worn on which
part of the body ?

(A) Ear (B) Forchead

(C) ‘Head (D) Neck

qRTEE ATEE ST & fEw AT 9T 9
w7
(A) &
(©) fat

(B) T
(D) T

Which of the following institutes purchases
handicraft items directly from the crafi
persons 7

oy 8 & 2l T wfafeedl @ @9
T FTO I TS ARl & Wi
v
(A) RBI
(C) RFC

(B) RAJSICO
(D) RIICO

When was Rajasthan State Mineral
Development  Corporation  Ltd.
amalgamated with Rajasthan Statc Mines
and Minerals Lid. ?

(A). 19 February 2003
(B) 1 March 2000

(C) 26 December 1995
(D). 20 January 1990

T T afe frewm Fom o=
e rerart e ge o e fa A
w4 E 7

(A) 19 "=l 2003

(B) | 7€ 2000

(C) 26 femmar 1995

(D) 20 sl 1990
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What is Saksham Yojana under §

Shiksha Abhiyan implemented [Ej

Rajasthan ?

(A) It gives
housewives. .

(B) It gives skill development training y
youth. . x

(C) It gives self defensive training 1o giry

(D) It ensures self employment to youd

o # wa 6 wd fen sfiom g

starfa wem e @ ¥ 7

(A) ag Tfefort #r diferd 3 ¥

(B) % e wimif ) At fr & i
o

(C) TE A B anercen & fog wfinm
o i

(D) e gar @il & @i ghiad 26
(4

insurance policy

As per recommendations of Fifth Suae

Finance Commission of Rajasthan,

distribution of the alloeated resources for

local bodies, is to be made in the ratio of -

{A) 50:50 to both rural and urban bodies

{B) 40% to rural bodies and 60% to urban
bodics

(C) 70% to rural bodies and 30%6 to urban
bodies

(D) 75.10% to rural bodies and 24.90%%
to urban bodies

T % wfad (e P ot @) e

& argart v Pl # snefea gam

% frren srqura ¥ -

(A) 50:50 2t 7oy vg gy Pl &
fer

(B) 40% umdror framdl ®1 T 60% el
Pyl @

(C) 70% Triter Praral &1 @ 30% w0
fyral @ :

(D) 75.10% anfra Prawi =t 3t 24.90%
sed) Pramal &

[PTO.
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79 Which Article of the Constitution deals | 74 How many districts of Raj
E - . s S
with  powers, authorities  and covered by Thar desert 2

asthan are

responsibilities of Panchayats 7 T % Py fae # _
< A SR G A A, |y
aftrey ity il & wafua & 7
(A) 243 (G)

(B) 357

(O 356 (B)

(A) 12 (B) 7
(C) 6 (D) 5

75  When was Central Arid Zone Rescarch

(D) 243 (A) Institute set up 7
: e ; ; HAT {9 & FTHYH FEHE F ST FA
1 Which of the following is not a rabicrop 7 RraT T 7
{A) Masoor (B) Barley
(C) Wheat (D) Rice (A) 1985 (B} 1959
Frer & & e T A v T E 7 (C) 1966 (D) 1971
(A) THT (B) sf '
(C) T (D) =rEw 76  What is the aim of Van Dhan Scheme of
| Govemnment of India 7
72 Which of the following is not an agro- {A) Empowering Tribal communities
based industry 7 economically
(A) Cement (B) Papar — Bhujin {B) Preserving Biodiversity
(C) Khandsari (D) Edible oil (C) Restriction on slash and burn
Fret & & @an gfa—smnfm sam i agriculture
7 (D) Increasing forest cover
(A) Hrave (B) wgz — yfran NI BT ] 9 o T T e T
(C) wEETd (D) @M e (A) TrafET w1 onitiw WS
73 Who conceived the idea of the Indira (B) el
Gandhi Canal Project ? (C) g woE & W 9T i
(A) Kanwar Sain (D) FETIT &7l
(B) Jainarayan Vyas
(C) Jawaharlal Nehru 77 What is the current Repo Rate in India, as
(D) Mohanlal Sukhadia . per the announcements made by Reserve
gy ni e i @ frEn fees Bank of India in June 2018 ?
fram @ Tuw ¥ 7 ford #% e cfew @ oA 2018 ® o
(A) HaT & T drgemall % AT Wt ¥ FdEE
(B) F9ATOGY =TE wwn¥ ?
(C) vt e (A) 6.1% (B) 5.75%
(D) Hrerene genfeg (C) 6% (D) 6.25%
13 [PT.O.
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In which one of (he following citics, the
Government of India will establish India's
largest data centre 2

(A) Jaipur (B} Indore

(C) Bhopal (D) Bengaluru

= 9 & fw et & i wewn wa w
Al WS ST ey woh 7

(A) FagY (B) ¥=
(C) ¥ (D} a"T?[‘FL

National Digital Library of India is a
project of which one of the following
ministries ?

(A) Ministry  of

Development

Human Resource

(B} Ministry of Information Technology

(C) Mimstry of Education, Science and
Technology

(D) Ministry of Finance

yTTd # T fsfrew wEh frefefaa

% # fFm dwem @ wewe & 7

(A) 8ra "@aws fawm 9=

(B) gam awa wared

() B, foma g aEAE TEEg

(D) faa o=

80 /In Rajasthan on which one of the following

..........................

Reso

dates, the second phase of “Mukhyamaniri
Bhamashah Swasthya Bima Yojana®™ was
started 7

(A) 153 Dec., 2017

(B) 25 Now, 2017

(C) 26 Jan., 2018

(D} 1 Jan., 2018

v o fe 4 A faw B wend
VTS @re A s ¥ foim
& are TEm o ¢

(A) 13 R, 2017

(B) 25 @91, 2017

(C) 26 sl 2018

(D) | 7=1adl, 2018

nance®
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rwal has won which .,

: -ash Mitha :
Omprakash medals in  recey, 3¢

the following .
Commanwealth Games - .

(A) None of these (B) Silver

(C) Gaold (D) Bronze

A @ B F Ty,

(A) g @ v T (B) T
(©) @ bl

The famous *Batadu Well" is _simatcd i
which of the following districts of
Rajasthan ?

(B) Bharatpur

{A) Dausa

{(C) Jaipur (D) Barmer

ufteg arerg o wonEE & R g
fra P g femk ?

(A) 2 (B) WTAT

(C) syt (D) ATEAT

Varun-18 is an excreise related to which
one of the following ?

{A) Disaster Reliel Force

iB) Airforce

(C) Military

(D) MNawval

Twu- |8 A oy frer A & few o8
aofam & 7

(A) WTOET et <

(B) amga
(C) uerd=n
(D) ==

According to Budget announcement
2018-19 what will be the salary of
Asha Sahyogini in Rajasthan ?
2018-19 %Y ¥z wiavn & SETT T
?anen wEafieh wr e @ g 7
(A) T 2200 (B) T 2,500

(C) T 2,000 (D) ¥ 1,850

[P.T.O.
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Which one of the following Military
stations will be developed as smart facility
under the Smant City Mission 7

(A) Jodhpur (B) Jaisalmer

(C) Wheeler Island (1)) Bhatinda
Prafafaa % @ @ foed) wm end
ford) figm & e o et & w9 A

Pt fpm o ?
(A) R (B) ey
(C) ey A (D) wfzom

Ayushman Bharat Mission is related 10
which one of the following sectors 7
(A) Spons (B) Finance

(C) Health (D) Education
HgEA wa faym @ wey o 98
fFAemat ?
(A) T

(C) |

(B) fa=
(D) faren

Who among the following is the present
Central Vigilanee Commissioner of India ?
(A) Alok Verma

(B) K. V. Chowdhary

(C) Dr. Tejendra Mohan

(D) Shn Sharad Kumar

Prefafa & & @19 W@ & Fd9H F214
gada aga ¥ 7

(A) melts &=t (B) &, AL dad
(C) =1, dor= A (D) & 3@ FAN

'Gararda Vrihad Peyjal Pariyojna’ is related
to which of the following district of
Rajasthan 7

(A) Jhalawar (B) Kota’

(C) Baran (D) Bundi

TEE grE Yguw s e &
Prer F & Ppm P & wafam & 2

(A) AwmaE (B) &1

(C) = (D) §&

|||||||||||||||

A3
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What is the new name of the “Sports
Authority of India’ ?

(A) Spons India

(B) Authority of Sports

(C) Dyepanment of Sports

(12) Central Spoerts Authority

R SR o e’ & @ T
wE 7

(A) wrEg gfesa

(R) wenfrdl sis s

(C) Puréf= wirs wem

(D) A=A wWin wafd

! : e . st
Whe among the following is the 21

Licutenant Governor of Delhi 7

(A) Arvind Kejriwal

(B) Nujeeb Jung

(C) ‘Tejendra Khanna

(D) Amil Baijal

Prer & & i freeh % 219 syTRTE £ 7
(A) utfa= &ariiar

(B) g A

(C) &z @=n

(1) afra I

91/ “Nathra ki Pal’ mine is located in district

92

of :

(A) Barmer (B) Sirohi

(C) Udaipur (D) Ajmer

T A g we el R A arfiaa
b7

(A) ATEHT (B) fatréy
(C) T=UYX (D) T

Which of the tollowing Tehsil has the
highest density of Sahariya tribe in
Rajasthan ?

(A) Mangrol (B) Chhabra

(C) Kishanganj (D) Dhariyabad
o ¥ Prefetea ¥ @ A aede A
wefr et &1 o sfusan & 2
(A) R (B) B4

(C) fsyrria (D) uftamm

[ RT.O,
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93  Which of the following categories of forest

covers the maximum percent of area in
Rajasthan 7

(A) Protected forest

(B) Reserved forest

(C) Unclassified forest

(D) Private forest

Freifsa = aftral % & wonam ¥ fras
Frta wattus wfaa &= aga b 7
(A) gtftm 7=

(B) artfem a=

(C) sraiiga =

(D) i 3w

The Gajner Wildlife Sanctuary is located
in which district of Rajasthan ?

(A) Sikar (B) Churu

(C) Bikaner {)) Hanumangarh
THAT GG TATIO0 TR &
foret of e & 7
(A) ¥t

(C) drrt

(B) g%
(D) TG

Tharparkar breed is found in which region
of Rajasthan ?

(A) South-East region

(B) Eastern region

(C) Shekhawati region

(D) Western Arid region

Prefefa & & o & 2@ @ §
UG TR ug e ¥ 7

(A) wfer-gd &=

(B) 18 &

(C) dramard é&=

(D) <R ya dx

ResoMEx Division

96

lowing wildlife S“—m:h,;?
1 locations :
{a) Dholpur

Match the fol
with their comec

(i) Ramgarh
Sanctuary

(i) Jawahar Sagar (b) Churu
Sancluary |

(iii) Van Vihar (c) Bundi
Sanctuary

(iv) Taal Chhappar (d) Alwar
Sanctuary

(v} Sariska {e) Kota
Sancluary

Preffra =i AWATIVEl S T 5

aaffal @ frEme -

(i) TTE (a) HEgT
VT

(ii) wamey grt (b) 9F
AHATg

(iii) = et c) A
HWAT

(iv) @& grat (d) et
AT

(v) wf e (e) w71
AT
() (i) (i) (iv) )

(B) (¢) (e) (a) (b) (d)

© @ ® @ @ (©

D) © @ (a) (© (b)

Which tree leaves are used for makiz
‘bidi* ?

(A) Teak (B) Tendu

(C) Dhokda (D) Palash

Eoct:] g8 & ufedl 1 edm A Eed
Hemi ?
(A) @M
(C) "rwm

(B) ¥g

(D) wemgr

Tl
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98 /'Luni Basin' is a part of which broad
Physiographic division of Rajasthan ?
(A) South-Eastern Plateau

(B) Aravalli Hilly Region

(C) Western Desert

(D) Fastern Plain

feram &1 0w wm ¥ 7

(A) o gl wer

(B) ¥ttt wersl waw

(C) wited woem

(D) g& #Em

Which of the following is with gentle slope
on sand dunes windward side and steep
slope on leeward side ?

(A) Nebkha

(B) Barchan

(C) Transverse

(D) Longitudinal ~

fr=tifiea & & FET IRgH TY T gl
oI 9 A gEAtagd! T A g & 7
(A) =

(B) 1@

(C) sigme

(D) ergéed

}/Rcd loam soil is found in district of :
(A) Bikaner

(B) Dungarpur

(C) Kota

(D) Sirolu

e 2z ad umn W A G E
(A) FraTT

(B) gmqT

(©) B

(D) ot

|||||||||||||||||||
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i\_Illlj/if birth rate and death rat of a city is 10%

each, what will be the approximat€
population of the city afier 2 years, if
current population is 3000 7

afy ' AT B T G q g T AAD
10%% | 2 & 91E 9Tee o e FeEel
7w afy adam S 3000 & 7
(A) 3000 (B) 3630

(C) 3060 (D} 2940

!il}/:‘m.a of piece of a canvas is 1103 m2. A
conical tent is 1o ba made by canvas with
base area 616 m2. Assuming that all the
stiching margins and the wastage incurred
while culling, amounts to approximately
5 m?2, then the height of the tent is -
(A) 21 m (B) 18.20 m
(C) 24 m (D) 20,71 m
% FAAT ¥ gwE W awwe 1105 W2 E
TF FTETE U 9 & BT B AL TAA
foma anurt @ d@=ke 616 W2 ¥ | TE
TR 52 fos R 9 gt s 5 A2
AT T FIW B | WY R Tes § -
(A) 21 81 (B) 18.20 =
(C) 24 (D) 20.71

1 The area of a circular ring enclosed
between two concentric circles is 286 cm?,
What are the radii of the two circles if
their difference is 7 em ?

(A) 13 cm, 6 cm

(B) 12 cm, 5 cm

(C) 10 cm, 3 cm

(D) 14 ¢m, 7 em

& Wt g % e WREE UF gEER
oFd T Sewe 286 T2 E | ZE gE @
freard @ & afy I oA 7 ﬁﬁ’r 7
(A) 13 Bl 6 T0

(B) 12 &, 5 W0

(C) 10 &4, 3 &0

(D) 14 &, 7 &

[PT.0.
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Arca of the smallest square that can
circumscribe a circle of area 616 em? is -
(A) 764 ¢m? (B) 864 em?

(C) 824 em? (D) 784 cm?

TE BR R B o & &5ww @ fm @
616 71 & dwwm =@ 3o B gohwn
Gro i
(A) 764 w2
(C) 824 {2

(B) 864 &d?
(D) 784 @M1

The three vertices of a parallelogram taken
in order are (0, 1). (2. 3) and (4, 3)
respectively, then the coordinates of the
founh venex is -

fad T o & oA dm oid @R
(0, 15, (2, ) a4, 3 ¥, a9 99 oid &
fiams ¥ -

(A} (=2, ~1) (B) (-2. 1
{€) (1, 2) (D@ n
What would be the printed price of a wall-

clock purchased a1t ¥ 380, so that afier
giving 5% discount, there is 25% profit 7
v dra 7€) & sifed e @ w A
TEE FT A T B0 UG S% R G
e 25% A @ 7
(A) T 600

(C) T 450

(B) T 500
(D) T 400

Out of T 20,000 Narendra gives some
amount on loan at simple interest rate 8%
per annum and rest amount at simple

4
interest rate 3% per annum. At the end

of year he cams ¥ 800. The amount given
at 8% rate will be -

T7 720,000 F | FW T 8% B Aramw

uﬁumﬂﬂaﬂtﬂwm—}%aﬁ

grareer Afs = 3T O Jurt A ¥ |
% o ¥ I8 T 800 B Ay wiffa B &)
8% @A T YT TUN & 7 ufy 2 -
(A) T 12,000 (B) T 10,000
(C) T 6,000 (D) T 8,000

nance®
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108" Tonu inve

109

1y

sted 10% more thay vl

investment of Monu and Sony invey,
10% less than the investment of Mo,

the total investment of all the three Percy
is 2 60,000, the investment of Mony .

2, A A 10% T PR T g,
A, A @ 10% 79 PRY T E i
ﬁmmﬁﬁ'&ﬂfﬁﬂﬂﬂﬂtl CE
@ Prde ¥ -
(A) T 40,000
(C) T 20,000

(B) T 30,000
(D) ¥ 10,000

if P(1) is a polynomial of degree n =1 a:
(t-2) is a factor of P(t}, then P2} is.
(A) Can not be determined

(B) 2

(©) (1-2)

(D) 0

af& P(1), » 2 | T T LS & A4 (-2,
P() % UE oS ¥, @@ P2 E -
(A) a8 fer | W

(B) 2

(C) (r-2)

(D) 0

|
The value of (250-:14?}% ~(|3324]A

15 -

[25304_1?]y -(13324}% w A ¥ -
(A) 39 (B) 33
(C) 29 (D) 23

How many cubes of 25 ¢m edge can be
put in a cubical box of | m edge ?

I Rert o e fead d, 25 @9
e Fr @ masa t 7
(A) 64 (B) 32

(C) 16 (D) 4

[P.TO.
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112 If point A (x, y) is equidistani from the

point B (3, —4) and C (=2, 0) then -
aft frg A @, ), g B (3, ) A
C,0Famzh g ma -
(A) 10x+8y =16

(B) 10x - 8y = 2]

(C) 4x—13=2y

(D) 4x-B8y =16

In the adjoining figure, ZADE = £B.
,'\E - E cm, Fn = ? cm, B(" =8 cm,
AD=10em and DC=2cm. then the
length DE is -
A
5 D
B C
(A) 7.8 cm (B3) 6.75 cm
(C) 6 cm (D) 2.1 cm
o g § ZADE = /B, AE = 8@,
EB=7%d, BC=9%, AD= 1089
am pC =2, 7@ DE @ T k-
A
g D
B c
(A) 7.8 & (B) 6.75 @1
(C) 6 & (D) 2.1 @

nance®

Educating for better tomorrow

19

ResoMEx Division
Be Skilled... Be Employed...!!!

114

115

116

Two parallel lines AB and CD arc
interseeted by a transversal EF at M and
N respectively. The lines MP and NI are
the hiscetors of interior angles ZBMN
and ZDNM on the same side of the
transversal. Then ZMPN is egual 1o ¢

va fodew Yan CF, 2 gurrr Tansl ADB
qu1 CD & FH M A1 N ot e ¥ |
Tamd MP am NP, fds Tan & 0w 9 A9
Pl arafisd ®m 2pMN 391 ZDNM
¥ ordw ¥ A @M ZMPN w1 AE -

(A) 120°
(€) 60°

(B) 90°
(D) 45°

The average salary of a group ol unskilled
workers is ¥ 10,000 and that of a group of
skilled workers is T 15,000, It the
combined average salary is T 12,000, then
the percentage of skilled workers 1s -

WY ANTH & UF WE F OG0 A
2 10,000 ¥ Tem Fue 4fEEl 6 HEE W@
o T 15,000 ¥ | aft 7 TRl W HgR
afvea aEa T 12,000 91, 7 gy AfiE W

wfaea & -

(A) 60% (B) 30%
(C) 40% (D) 30%
If logyy2=03010, the value of

logs 1024 s -
afx |leu2 = 03010, 99 i"-"l:'-fr 1024 i

o -
(A) 1.386
(C) 3.010

(3 6,911
(1) 43006

| PT.O.
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e b deviation from the median g,

121 :
Jjourney of 300 km if its speed is increased the following data 15 4
by 5 km/Mr from its usual speed. The usual 34, 66, 30, 38, 44, 50, 40. %uqr;f;l
speed of train is - friy T wtet & fa wIfemst R
(A) 20 km/hr (B) 15 kmv/hr ¥ =
(C) 30 km/hr (D) 25 kmvhr 34. 66, 30, 38, 44, 50. 40, 60, 42, 51
300 fef gt T w0 A uw A e (A) 9.0 (8) g‘g
2 92 TR wwa o ¢ aft o) ofy s (C) 8.8 (D) 8.
T B S REdM. wr & wd 1 e 122 The mecan and median of a frcqu_i:n{.
ar i ¥ - distribution are 52 and 551_' I-.:Spcf:lm-:_?
(A) 20 e, (B) 15 fesiig. What is the nmc}:: of -lhc dasl.nhuuor: 3
(C) 30 @, (D) 25 . P omgfy andzd W AT AUl AN
Faq: 52 @ 55 B, @ dET B TgE3
118 Which of the following is an equation ? it .7
e & & o vw wimTr B 2 (A) 54 (B) 53
7 2 2 (C) 535 (D) 61
(A) (x+)"=x"+2xy+y ‘
-5=4 123 An observer 1.5m 1all is 205 m away
. from a tower 22 m high. The angle o
(C) x+220 elevation of the top of the tower from Ux
(D) x=0 eye of the observer is - )
1.5 T e 22 H F9 AT E 2059
1 srei | A & M @
119 :rt-.:: value of [4133-:“]% +{223m)A Tt ';:ﬁ;#j
oy (A) 75° (B) 60°
) i C) 45° D) 30°
(423801)5 +(22801)/2 B A & - © s
124 The value 50° in radians is -
(A) 812 (B) 802 _
(©) 912 (D) 902 50° wr e & w
5 3
120 If A, B, C are the angles of a triangle, A) 57 (B) 57
f
then the value o © Sx D) 50%
tan(B + C) + tan(C + A) + tan(A + B)
wn(x—A)+tan(x ~ B) + tan(x - ) | 125 A cylinder has base radius 7 em and height
is equal 1o - 10 ¢cm. What is the volume of a cylinder ?
ot A, B, C f&d o % & ¥, T (A) 1500 cm® (B) 770 n cm?
tan(B +C) +1an(C + 4) + 1an (A + B) (C) 770 em? (D) 1540 cm®
tan (% ~ 4) + tan(x ~ B) + tan(x - C) TE AT F omun @ B 7 @@ o
% A qEr b - G 0N 1T H A A b 7
(A) tan (A+B+C) (B) ) (A) 1500 &  (B) 770 r wd’
© 1 ) 0 © 770 %h® . (D) 1540 41
20 [PTO.
lllllllllllll g;éonance®
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126 The radius and the height of a cone arc in

the ratio | : 3 and its volume is 1078 cm?,
then its diameter is -

(A) 21 em {B) 14 cm

(C) 7 cm (D) 3.5 em

% §F ® P e g w s 103
T TEE HTEE 1078 TR ¥, @ TEe
e ¥ -
(A) 21 Ty
(C) 7 &

(B) 14 #@fy
(D) 3.5 &

127 The ratio of curved surface area of 1wo

spheres is 4 : 9. What is the ratio of their

22
volumes ? [?T = T]

) il & A g S & A 4 - 0 &

( 332

3 i ? -==
mmmmgmawi.tﬂ ?]
(A) 27:8
(C) 8:9

{B) 8:27
(D) 9:4

128 Two identical cubes each of volume

12

........................

Reso

64 cm? are joined together end to end to
form a cuboid, the total surface area of
the cuboid 1s -

(A) 640 cm? (B) 320 cm?
(C) 160 cm? (D) 80 cm?
= ®ET g e Wil e 64 2

t % 0 @ TNEwT UH HATY Aean o
¥, @ v W W e dawa ¥

(A) 640 92 (B) 320 &2

(C) 160 &2 (D) 80 T2

The total surface area of a cube is 1014
square meter. What is the length of its
side 7

(A) 11 m (B) 13 m

(C) 169 m (D) 6 m

U% 59 % gl gdig deee 1014 a9
drzt ¥ | o @ o @ e FE 7
(A) 11 Hi (B) 13 %

(C) 169 (D) 69
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130

131

132

133

134

The diameter of a circle is 105 ¢m less
than its circumference. The radius of the
circle 15 -

(A) 24,5 cm By 24 e¢m

(C) 23 cm (13) 22 ¢m

U g &1 A TEw gfefa @ 105 4 w5
b ga @ B R

(A) 24.5 &M (B} 24 w4

(C) 23 & (D) 22 &

The distance between the points P (2, -3)
and ©) (3, =2) is -

(A) 3W2 Units  (B) 242 Units

(C) 542 Units (D) +2 Units

g P2 -)amQ 3, -2)FTa s gl
-

(A) W2 = (B) 22 =

(€) 52 598 (D) V2 =1

In which quadrant both abscissa and
ordinate are negative 7

{A) Fourth (B) Third

{C) Second (DY First

frm agatyr & spr @ w18 S TS

Tk ?
(A) ggd () gam
(C) Taeim (D) waH

The angle which is four times its
complement is -

e FIW, T AT [T HO F AT A E
(A} 75° (B) 720
(C) 68° (D) 60°

A shopkeeper ofters his customers 10%
discount and still makes a profit of 26%.
What is the actual cost price to the
shopkeeper of an article marked T 280 ?
U 9 WEH! F 10% FT @
warg & & fer it 26% wm sifda &t
¥ 12 280 siftea qra A T T FEAIN F
fere armfas w0 g b 7

(A) T 252 (By ¥ 207.2

(C) T 200 (D) T 186.48

[BRT.O.
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I35 The compound interest on ¥ 10 lakh at
8% per annum is ¥ 2,59,712. When interest
is compounded yearly then the time period
is -
(A) § years (B 4 wears
(C) 3 years (D 2 years
T 10 7ra =1 8% aiffs @ 7t & wmgha
= T 2.59,712 % | 9w A ot d A
4 THaat ® -
(A) 5 ad (B) 4 @
(C) 3 o (D) 2 =
If the selling price of 20 adicles is the
same as the cost price of 23 articles, then | 449
the profit percent is -
afy 20 gt w1 fawa g 23 AW B
7 g & g ¥, 4 W wfasd ¥ -
(A) 30% (B) 15%
(C) 11.5% (D} 10%
100g is what percent of 1 kg ?
100 7m, | fem @ fewm e b 7 | g
(A) 1000% (B) 100%
() 10% (I 1%
Two numbers are in the ratio 6: 7. If 4 15
added to each of the numbers. the ratio | 44
becomes 13 : 15, then the smaller number
5 -
71 "Wl w oS 6.7 B | o wels
HET H 4 e A & W A 13: 15 @
arn ¥, @ w "wum b - 144
(A) 60 (B) 56
(C) 48 (D) 36
If @a=1 and 6=1 is a solution of the
equation S5a + p = 175, then the value of
pis-
e a=1 T b=1, whEm
Sa+p=17h W UE AL, W p @
k-
(A) 12 (B) 11
(€) 7 D) 5
29
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140" So

jution of the equation

(4+a)(5-9) _yis-
{z+ﬂ}”'"}
(4 + u:]{5“"]

=1 W w3}
S Eleau W
3

3‘ o ==

{.-'\} == -2- {B) y)
3

2 )
© a="3 (D) =73
[4;;3 + dx = 3] =1
(A) (2x+1)(2x +3)
(B) (2x+3) (2x-1)
(€ (2x+1)(2x-3)
(D) (2x-1)(2x-3
The cube root of 2197 is
2197 H UAgA T -
(A) 13 (B) 19
(©) 17 (D) 23
The square root of 3025 is -
3025 @1 wiqE ¥ -
(A) 65 (B) 55
(C) 45 (D) 35

Water in a canal, 6m wide and 1.5m deep.
is flowing with a speed of 10 kmvh. It
8 em of standing water is needed, then
how much area will it irrigate i0
30 minutes ?

(A) 76.56 heclares (B) 80.76 hectares
(C) 91.47 hectares (D) 56.25 hectares
uF 6 o s 1.5 @ el wEg § O
10 km' 2 nfy § @5 w1 ¥ 1 9z 8 ¥
U g o enfen o A 30 fee A R
Bwe @ ffe woh 2

(A) 76.56 ¥FTT  (B) 80.76 ¥EAUT
(C) 91.47 ¥waT (D) 56.25 ¥RTT

[PT.O.




